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Introduction
During RAN#83, a TR on CLI/dynamic TDD co-existence was agreed. This TP proposes to capture an analytical calculation of inter-BS interference for co-located BS operating dynamic TDD.
[bookmark: _Ref178064866]Discussion
5.X Analysis of BS-BS interference for co-located BS
When dynamic TDD is operated by at least two operators that are co-located at the same site and transmit in the same band, then BS-BS interference will occur. If the aggressor is receiving and the victim transmitting, then the aggressor will suffer the interference. If the victim is receiving and the aggressor transmitting, then the victim will suffer interference.
The interference between the basestations may be calculated analytically as follows. For FR1, a typical assumption for the isolation between co-located basestations is 30dB. The 30dB assumption is the basis of the transmitter intermodulation and co-location blocking requirements for the FR1 specifications. A typical TRP transmit power is 43dB. The BS ACLR and ACS are around 45dB, leading to an ACIR of 42dB. 
[bookmark: _GoBack]The power arriving into the receiver of the victim is equal to the aggressor TX power – isolation = 43dBm – 30dB = 13dBm. The digital filtering in the receiver will suppress the interference by a further 45dB. However, the FR1 receiver blocking requirement is -43dBm, so the interference from the aggressor to the victim will block the RF receiver prior to filtering prevent uplink reception at the victim. Even if the receiver would not be blocked, after filtering the received power would be TX power – isolation – ACIR = 43 – 30 – 42dB = -29dBm. This power is around 80dB above the noise floor, so even if the RF receiver would not be blocked, the baseband would be saturated with interference and no throughput would be possible.
For FR2, a typical assumption for the isolation between co-located basestations is 50dB (The isolation may vary from a lower to a higher value depending on the separation between the BS and the beamforming, but 50dB is a reasonable representative value). The total radiated power for an FR2 BS is around 30dBm, and the ACIR 23,5dB. The power arriving at the receiver of a co-located receiver prior to filtering would be equal to TX power – isolation = 30dBm – 50dB = -20dBm. This power level is again well above the RF blocking requirement and thus the victim receiver RF will overload and no uplink reception will be possible. Even if the receiver would not be blocked, the interference level arriving in baseband would be TX power – isolation – ACIR = 30 – 50 – 23,5 = -43,5dBm. This is 50-60dB above the noise floor and thus the victim baseband would be saturated with interference even if the RF chain would not be blocked.
From the above analysis, it can be concluded that if dynamic TDD is operated at co-located basestations, during subframes in which the victim is receiving uplink whilst an aggressor is transmitting downlink the victim receiver would fail due to interference from the aggressor.
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